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Answers to Chapter 4 Problems

Unless noted, all statements execute in both Access (97 to 2003 versions) and Oracle (versions 9i and beyond).

1.

SELECT CustNo, CustFirstName, CustLastName, CustBal

  FROM Customer

2.

SELECT CustNo, CustFirstName, CustLastName, CustBal

  FROM Customer

  WHERE CustState = 'CO'
3.

SELECT *

  FROM Product

  WHERE ProdPrice > 50

  ORDER BY ProdMfg, ProdName
4. The first solution uses the IN comparison operator and the second solution uses the Boolean OR connector.

SELECT OrdNo, OrdDate, OrdName

  FROM OrderTbl

  WHERE OrdCity IN ('Denver', 'Englewood')

SELECT OrdNo, OrdDate, OrdName

  FROM OrderTbl

  WHERE OrdCity = 'Denver' OR OrdCity = 'Englewood'

5. The parentheses are necessary when mixing the logical AND and OR connectors.

SELECT CustNo, CustFirstName, CustLastName, CustCity, CustBal

  FROM Customer

  WHERE (CustCity = 'Denver' AND CustBal > 150) 

           OR (CustCity = 'Seattle' AND CustBal > 200)

6. The DISTINCT keyword eliminates duplicate rows.

SELECT DISTINCT OrdCity, OrdState

  FROM OrderTbl

7. Two solutions are provided because Access and Oracle have different formats for date constants.

Access SQL solution:

SELECT *

  FROM OrderTbl

  WHERE OrdDate BETWEEN #1/1/2007# AND #1/31/2007# AND EmpNo IS NULL

Oracle SQL solution:

SELECT *

  FROM OrderTbl

  WHERE OrdDate BETWEEN '1-Jan-2007' AND '31-Jan-2007' AND EmpNo IS NULL

8. Two solutions are provided because Access and Oracle have different formats for date constants.

Access SQL solution:

SELECT *

  FROM OrderTbl

  WHERE OrdDate BETWEEN #2/1/2007# AND #2/28/2007# 

        AND EmpNo IS NOT NULL

Oracle SQL solution:

SELECT *

  FROM OrderTbl

  WHERE OrdDate BETWEEN '1-Feb-2007' AND '28-Feb-2007' 

        AND EmpNo IS NOT NULL

9. The only difference in the Access and Oracle solutions is the wildcard character (* versus %, respectively). In Oracle SQL, because string matching is case sensitive, the constant must match the case of the ProdName value.

Access SQL solution:

SELECT *

  FROM Product

  WHERE ProdName LIKE '*Ink Jet*'

Oracle SQL solution:

SELECT *

  FROM Product

  WHERE ProdName LIKE '%Ink Jet%'

10. The only difference in the Access and Oracle solutions is representation of date constants.

Access SQL solution:

SELECT OrdNo, OrdDate, CustNo

  FROM OrderTbl

  WHERE OrdState = 'WA' AND OrdDate > #1/23/2007#

Oracle SQL solution:

SELECT OrdNo, OrdDate, CustNo

  FROM OrderTbl

  WHERE OrdState = 'WA' AND OrdDate > '23-Jan-2007'

11. The only difference in the Access and Oracle solutions is the format of date constants.

Access SQL solution:

SELECT OrdNo, OrdDate, Customer.CustNo, CustFirstName, CustLastName

  FROM OrderTbl, Customer

  WHERE OrdState = 'CO' AND OrdDate BETWEEN #1/1/2007# AND #1/31/2007#

        AND OrderTbl.CustNo = Customer.CustNo

Oracle solution:

SELECT OrdNo, OrdDate, Customer.CustNo, CustFirstName, CustLastName

  FROM OrderTbl, Customer

  WHERE OrdState = 'CO' AND OrdDate BETWEEN '1-Jan-2007' AND '31-Jan-2007'

        AND OrderTbl.CustNo = Customer.CustNo

Access solution with an INNER JOIN operation:

SELECT OrdNo, OrdDate, Customer.CustNo, CustFirstName, CustLastName

  FROM OrderTbl INNER JOIN Customer ON OrderTbl.CustNo = Customer.CustNo

  WHERE OrdState = 'CO' AND OrdDate BETWEEN #1/1/2007# AND #1/31/2007#

Oracle 9i/10g solution with an INNER JOIN operation:

SELECT OrdNo, OrdDate, Customer.CustNo, CustFirstName, CustLastName

  FROM OrderTbl INNER JOIN Customer ON OrderTbl.CustNo = Customer.CustNo

  WHERE OrdState = 'CO' AND OrdDate BETWEEN '1-Jan-2007' AND '31-Jan-2007'

12. The only difference in the Access and Oracle solutions is the format of date constants.

Access SQL solution:

SELECT OrdNo, OrdDate, Customer.CustNo, CustFirstName, CustLastName

FROM OrderTbl, Customer

WHERE OrdState = 'WA' AND OrdDate BETWEEN #1/1/2007# AND #1/31/2007#

      AND OrderTbl.CustNo = Customer.CustNo AND CustState = 'CO'

Oracle SQL solution:

SELECT OrdNo, OrdDate, Customer.CustNo, CustFirstName, CustLastName

  FROM OrderTbl, Customer

  WHERE OrdState = 'WA' AND OrdDate BETWEEN '1-Jan-2007' AND '31-Jan-2007'

        AND OrderTbl.CustNo = Customer.CustNo AND CustState = 'CO'

13. The only difference in the Access and Oracle solutions is the format of date constants. The DISTINCT keyword is necessary because a customer can place multiple orders in February 2007.

Access SQL solution:

SELECT DISTINCT Customer.CustNo, CustFirstName, CustLastName, CustBal

  FROM OrderTbl, Customer

  WHERE CustState = 'WA' AND OrdDate BETWEEN #2/1/2007# AND #2/28/2007#

        AND OrderTbl.CustNo = Customer.CustNo

Oracle SQL solution:

SELECT DISTINCT Customer.CustNo, CustFirstName, CustLastName, CustBal

  FROM OrderTbl, Customer

  WHERE CustState = 'WA' AND OrdDate BETWEEN '1-Feb-2007' AND '28-Feb-2007'

        AND OrderTbl.CustNo = Customer.CustNo

14. The only difference in the Access and Oracle solutions is the format of date constants.

Access SQL solution:

SELECT OrdNo, OrdDate, Customer.CustNo, CustFirstName, CustLastName,

               Employee.EmpNo, EmpFirstName, EmpLastName

  FROM OrderTbl, Customer, Employee

  WHERE CustState = 'CO' AND OrdDate BETWEEN #1/1/2007# AND #1/31/2007#

        AND OrderTbl.CustNo = Customer.CustNo 

        AND OrderTbl.EmpNo = Employee.EmpNo

Oracle SQL solution:

SELECT OrdNo, OrdDate, Customer.CustNo, CustFirstName, CustLastName,

               Employee.EmpNo, EmpFirstName, EmpLastName

  FROM OrderTbl, Customer, Employee

  WHERE CustState = 'CO' AND OrdDate BETWEEN '1-Jan-2007' AND '31-Jan-2007'

        AND OrderTbl.CustNo = Customer.CustNo 

        AND OrderTbl.EmpNo = Employee.EmpNo

Access SQL solution with INNER JOIN operations:

SELECT OrdNo, OrdDate, Customer.CustNo, CustFirstName, CustLastName, 

               Employee.EmpNo, EmpFirstName, EmpLastName

  FROM ( OrderTbl INNER JOIN Customer ON OrderTbl.CustNo = Customer.CustNo )

          INNER JOIN Employee ON OrderTbl.EmpNo = Employee.EmpNo

  WHERE CustState = 'CO' AND OrdDate BETWEEN #1/1/2007# AND #1/31/2007#

Oracle 9i SQL solution with INNER JOIN operations:

SELECT OrdNo, OrdDate, Customer.CustNo, CustFirstName, CustLastName, 

               Employee.EmpNo, EmpFirstName, EmpLastName

  FROM ( OrderTbl INNER JOIN Customer ON OrderTbl.CustNo = Customer.CustNo )

          INNER JOIN Employee ON OrderTbl.EmpNo = Employee.EmpNo

  WHERE CustState = 'CO' AND OrdDate BETWEEN '1-Jan-2007' AND '31-Jan-2007'

15. The only difference in the Access and Oracle solutions is the format of date constants. The DISTINCT keyword is necessary because an employee can take multiple orders.

Access SQL solution:

SELECT DISTINCT Employee.EmpNo, EmpFirstName, EmpLastName, EmpPhone

  FROM OrderTbl, Customer, Employee 

  WHERE CustBal > 300 AND OrdDate BETWEEN #1/1/2007# AND #1/31/2007#

        AND OrderTbl.CustNo = Customer.CustNo

        AND OrderTbl.EmpNo = Employee.EmpNo

Oracle SQL solution:

SELECT DISTINCT Employee.EmpNo, EmpFirstName, EmpLastName, EmpPhone

  FROM OrderTbl, Customer, Employee 

  WHERE CustBal > 300 AND OrdDate BETWEEN '1-Jan-2007' AND '31-Jan-2007'

        AND OrderTbl.CustNo = Customer.CustNo

        AND OrderTbl.EmpNo = Employee.EmpNo

16. The only difference in the Access and Oracle solutions is the format of date constants. The DISTINCT keyword is required because a customer may order the same product across orders.

Access SQL solution:

SELECT DISTINCT Product.ProdNo, ProdName, ProdPrice

  FROM OrderTbl, OrdLine, Product

  WHERE CustNo = 'C0954327' AND OrdDate BETWEEN #1/1/2007# AND #1/31/2007#

        AND OrderTbl.OrdNo = OrdLine.OrdNo

        AND OrdLine.ProdNo = Product.ProdNo

Oracle SQL solution:

SELECT DISTINCT Product.ProdNo, ProdName, ProdPrice

  FROM OrderTbl, OrdLine, Product

  WHERE CustNo = 'C0954327' 
       AND OrdDate BETWEEN '1-Jan-2007' AND '31-Jan-2007'

        AND OrderTbl.OrdNo = OrdLine.OrdNo

        AND OrdLine.ProdNo = Product.ProdNo

17. The only difference in the Access and Oracle solutions is the format of date constants. The join operator style can also be used with Access SQL.

Access SQL solution:

SELECT Customer.CustNo, CustFirstName, CustLastName, OrderTbl.OrdNo, 

               OrdDate, Employee.EmpNo, EmpFirstName, EmpLastName, 

               Product.ProdNo, ProdName, ProdPrice*Qty AS OrderCost

  FROM OrderTbl, OrdLine, Product, Customer, Employee

  WHERE OrdDate = #1/23/2007# AND ProdPrice*Qty > 150

        AND OrderTbl.OrdNo = OrdLine.OrdNo

        AND OrdLine.ProdNo = Product.ProdNo

        AND OrderTbl.CustNo = Customer.CustNo

        AND Employee.EmpNo = OrderTbl.EmpNo

Oracle SQL solution:

SELECT Customer.CustNo, CustFirstName, CustLastName, OrderTbl.OrdNo, 

               OrdDate, Employee.EmpNo, EmpFirstName, EmpLastName, 

               Product.ProdNo, ProdName, ProdPrice*Qty AS OrderCost

  FROM OrderTbl, OrdLine, Product, Customer, Employee

  WHERE OrdDate = '23-Jan-2007' AND ProdPrice*Qty > 150

        AND OrderTbl.OrdNo = OrdLine.OrdNo

        AND OrdLine.ProdNo = Product.ProdNo

        AND OrderTbl.CustNo = Customer.CustNo

        AND Employee.EmpNo = OrderTbl.EmpNo

18.

SELECT CustCity, AVG(CustBal) AS AvgBal

  FROM Customer

  WHERE CustState = 'WA'

  GROUP BY CustCity
19. The Access and Oracle solutions use different functions to extract the first five digits of the zip code.

Access SQL solution:

SELECT CustCity, left(CustZip, 5) AS ShortZip, AVG(CustBal) AS AvgBal

  FROM Customer

  WHERE CustState = 'WA'

  GROUP BY CustCity, Left(CustZip, 5)

Oracle SQL solution:

SELECT CustCity, substr(CustZip, 1, 5) AS ShortZip, AVG(CustBal) AS AvgBal

  FROM Customer

  WHERE CustState = 'WA'

  GROUP BY CustCity, substr(CustZip, 1, 5)

20. The HAVING clause is necessary to eliminate cities with only one customer.

SELECT CustCity, AVG(CustBal) AS AvgBal, COUNT(*) AS NumCustomers

  FROM Customer

  WHERE CustState = 'WA'

  GROUP BY CustCity

  HAVING COUNT(*) > 1

21. The solution cannot be directly performed in Microsoft Access because DISTINCT cannot be used inside of aggregate functions. However, the same result can be produced in Access by using two SELECT statements as shown below.

Oracle SQL solution:

SELECT CustCity, COUNT(DISTINCT substr(CustZip, 1, 5)) AS NumShortZips, 

               AVG(CustBal) AS AvgBal

  FROM Customer

  WHERE CustState = 'WA'

  GROUP BY CustCity

  HAVING AVG(CustBal) > 100

Access SQL solution: the second SELECT statement should be saved as a query with the name “Temp4_21”.

SELECT CustCity, COUNT(*) AS NumShortZips, AVG(CustBal) AS AvgCustBal

  FROM Temp3_21

  GROUP BY CustCity

  HAVING AVG(CustBal) >= 100;

Temp4_21:

SELECT DISTINCT CustCity, left(CustZip, 5) AS CustShortZip, CustBal

  FROM Customer

  WHERE CustState = 'WA';

22. The Product table is necessary because the ProdPrice column is needed in the aggregate expression. The solutions differ by the format of date constants.

Access SQL Solution

SELECT OrderTbl.OrdNo, SUM(Qty*ProdPrice) AS TotOrdAmt

  FROM OrderTbl, OrdLine, Product

  WHERE OrdDate = #1/23/2007#

        AND OrderTbl.OrdNo = OrdLine.OrdNo

        AND OrdLine.ProdNo = Product.ProdNo

  GROUP BY OrderTbl.OrdNo

Oracle SQL Solution

SELECT OrderTbl.OrdNo, SUM(Qty*ProdPrice) AS TotOrdAmt

  FROM OrderTbl, OrdLine, Product

  WHERE OrdDate = '23-Jan-2007'

        AND OrderTbl.OrdNo = OrdLine.OrdNo

        AND OrdLine.ProdNo = Product.ProdNo

  GROUP BY OrderTbl.OrdNo

23. The OrdDate, CustFirstName, and CustLastName columns must be included in the GROUP BY clause because every column in SELECT that is not an aggregate expression must appear in the GROUP BY clause. The solutions differ by the format of date constants.

Access SQL Solution

SELECT OrderTbl.OrdNo, OrdDate, CustFirstName, CustLastName, 

               SUM(Qty*ProdPrice) AS TotOrdAmt

  FROM OrderTbl, OrdLine, Product, Customer

  WHERE OrdDate = #1/23/2007#

        AND OrderTbl.OrdNo = OrdLine.OrdNo

        AND OrdLine.ProdNo = Product.ProdNo

        AND Customer.CustNo = OrderTbl.CustNo

  GROUP BY OrderTbl.OrdNo, OrdDate, CustFirstName, CustLastName

Oracle SQL Solution

SELECT OrderTbl.OrdNo, OrdDate, CustFirstName, CustLastName, 

                SUM(Qty*ProdPrice) AS TotOrdAmt

  FROM OrderTbl, OrdLine, Product, Customer

  WHERE OrdDate = '23-Jan-2007'

        AND OrderTbl.OrdNo = OrdLine.OrdNo

        AND OrdLine.ProdNo = Product.ProdNo

        AND Customer.CustNo = OrderTbl.CustNo

  GROUP BY OrderTbl.OrdNo, OrdDate, CustFirstName, CustLastName

24. The HAVING clause is necessary to eliminate customers with two or less products ordered.

Access SQL Solution

SELECT Customer.CustNo, CustFirstName, CustLastName, 

              SUM(Qty) AS ProdQty, SUM(Qty*ProdPrice) AS TotOrdAmt

  FROM OrderTbl, OrdLine, Product, Customer

  WHERE OrdDate BETWEEN #1/1/2007# AND #1/31/2007#

        AND OrderTbl.OrdNo = OrdLine.OrdNo

        AND OrdLine.ProdNo = Product.ProdNo

        AND Customer.CustNo = OrderTbl.CustNo

        AND (ProdName LIKE '*Ink Jet*' OR ProdName LIKE '*Laser*')

  GROUP BY Customer.CustNo, CustFirstName, CustLastName

  HAVING SUM(Qty) > 2

Oracle SQL Solution

SELECT Customer.CustNo, CustFirstName, CustLastName, 

              SUM(Qty) AS ProdQty, SUM(Qty*ProdPrice) AS TotOrdAmt

  FROM OrderTbl, OrdLine, Product, Customer

  WHERE OrdDate BETWEEN '1-Jan-2007' AND '31-Jan-2007'

        AND OrderTbl.OrdNo = OrdLine.OrdNo

        AND OrdLine.ProdNo = Product.ProdNo

        AND Customer.CustNo = OrderTbl.CustNo

        AND (ProdName LIKE '%Ink Jet%' OR ProdName LIKE '%Laser%')

  GROUP BY Customer.CustNo, CustFirstName, CustLastName

  HAVING SUM(Qty) > 2

25. The HAVING clause is necessary to eliminate products with five or less products ordered. In the ORDER BY clause, the column number (3) can be used in place of the aggregate expression.

Access SQL Solution

SELECT Product.ProdNo, ProdName, 

              SUM(Qty) AS ProdQty, SUM(Qty*ProdPrice) AS TotOrdAmt

  FROM OrderTbl, OrdLine, Product

  WHERE OrdDate BETWEEN #1/1/2007# AND #1/31/2007#

        AND OrderTbl.OrdNo = OrdLine.OrdNo

        AND OrdLine.ProdNo = Product.ProdNo

  GROUP BY Product.ProdNo, ProdName

  HAVING SUM(Qty) > 5

  ORDER BY SUM(Qty*ProdPrice) DESC

Oracle SQL Solution

SELECT Product.ProdNo, ProdName, 

              SUM(Qty) AS ProdQty, SUM(Qty*ProdPrice) AS TotOrdAmt

  FROM OrderTbl, OrdLine, Product

  WHERE OrdDate BETWEEN '1-Jan-2007' AND '31-Jan-2007'

        AND OrderTbl.OrdNo = OrdLine.OrdNo

        AND OrdLine.ProdNo = Product.ProdNo

  GROUP BY Product.ProdNo, ProdName

  HAVING SUM(Qty) > 5

  ORDER BY SUM(Qty*ProdPrice) DESC

26. The not equality comparison (<>) ensures that the customer and shipping state are different.

SELECT OrdNo, OrdDate, OrdState, Customer.CustNo, CustFirstName, 

              CustLastName, CustState

  FROM OrderTbl, Customer

  WHERE OrdState <> CustState

        AND OrderTbl.CustNo = Customer.CustNo

27. The table alias names are necessary to distinguish the copies of the Employee table.

SELECT E.EmpNo, E.EmpFirstName, E.EmpLastName, E.EmpCommRate,

               Supr.EmpFirstName, Supr.EmpLastName, Supr.EmpCommRate

  FROM Employee E, Employee Supr

  WHERE E.SupEmpNo = Supr.EmpNo

28. The two solutions differ because of the date formats.

Access SQL Solution

SELECT Employee.EmpNo, EmpFirstName, EmpLastName, 

              SUM(EmpCommRate*Qty*ProdPrice) AS TotCommAmt

  FROM Employee, OrderTbl, OrdLine, Product

  WHERE OrderTbl.EmpNo = Employee.EmpNo

        AND OrderTbl.OrdNo = OrdLine.OrdNo

        AND OrdLine.ProdNo = Product.ProdNo

        AND OrdDate BETWEEN #1/1/2007# AND #1/31/2007#

  GROUP BY Employee.EmpNo, EmpFirstName, EmpLastName

Oracle SQL Solution

SELECT Employee.EmpNo, EmpFirstName, EmpLastName, 

              SUM(EmpCommRate*Qty*ProdPrice) AS TotCommAmt

  FROM Employee, OrderTbl, OrdLine, Product

  WHERE OrderTbl.EmpNo = Employee.EmpNo

        AND OrderTbl.OrdNo = OrdLine.OrdNo

        AND OrdLine.ProdNo = Product.ProdNo

        AND OrdDate BETWEEN '1-Jan-2007' AND '31-Jan-2007'

  GROUP BY Employee.EmpNo, EmpFirstName, EmpLastName

29. The two solutions differ because of the concatenation function. The columns have been renamed so that the result table has meaningful column names.

Access SQL Solution

SELECT CustFirstName & ' ' & CustLastName AS PersonName, 

              CustStreet AS Street, CustCity AS City, CustState AS State, CustZip AS Zip

FROM Customer

UNION

SELECT OrdName AS PersonName, OrdStreet AS Street, 

              OrdCity AS City, OrdState AS State, OrdZip AS Zip

FROM OrderTbl

Oracle SQL Solution

SELECT CustFirstName || ' ' || CustLastName AS PersonName, 

              CustStreet AS Street, CustCity AS City, CustState AS State, CustZip AS Zip

  FROM Customer

UNION

SELECT OrdName AS PersonName, OrdStreet AS Street, 

              OrdCity AS City, OrdState AS State, OrdZip AS Zip

  FROM OrderTbl

30. This problem can be formulated with a join or intersection operation. 

Join formulation (Access and Oracle)

SELECT CustFirstName, CustLastName 

  FROM Customer, Employee

  WHERE CustFirstName = EmpFirstName AND CustLastName = EmpLastName

Intersection formulation (Oracle)

SELECT CustFirstName AS FirstName, CustLastName AS LastName

  FROM Customer

INTERSECT

SELECT EmpFirstName AS FirstName, EmpLastName AS LastName 

  FROM Employee

31. This problem requires two self-joins of the Employee table. The table alias “E” represents the supervising employee. The table alias “Subr1” represents the first level subordinates. The table alias “Subr2” represents the second level subordinates.

SELECT Subr2.EmpNo, Subr2.EmpFirstName, Subr2.EmpLastName

  FROM Employee E, Employee Subr1, Employee Subr2

  WHERE Subr1.EmpNo = Subr2.SupEmpNo

        AND Subr1.SupEmpNo = E.EmpNo

        AND E.EmpFirstName = 'Thomas' AND E.EmpLastName = 'Johnson'

32. This problem requires a union operation to combine the first level and second level subordinates. In each SELECT statement, the SubLevel column indicates the level.

SELECT Subr1.EmpNo, Subr1.EmpFirstName, Subr1.EmpLastName, 1 AS SubLevel

  FROM Employee E, Employee Subr1

  WHERE Subr1.SupEmpNo = E.EmpNo

        AND E.EmpFirstName = 'Thomas' AND E.EmpLastName = 'Johnson'

UNION

SELECT Subr2.EmpNo, Subr2.EmpFirstName, Subr2.EmpLastName, 2 AS SubLevel

  FROM Employee E, Employee Subr1, Employee Subr2

  WHERE Subr1.EmpNo = Subr2.SupEmpNo

        AND Subr1.SupEmpNo = E.EmpNo

        AND E.EmpFirstName = 'Thomas' AND E.EmpLastName = 'Johnson'

33. This statement does not execute in Oracle 8i SQL because Oracle 8i does not support the join operator style.

SELECT DISTINCT CustFirstName, CustLastName

  FROM Employee INNER JOIN OrderTbl 
                ON Employee.EmpNo = OrderTbl.EmpNo,     

              Customer

  WHERE Customer.CustNo = OrderTbl.CustNo

        AND EmpFirstName = 'Amy' AND EmpLastName = 'Tang'

34. This statement does not execute in Oracle SQL because Oracle SQL does not support the join operator style.

Access SQL Solution

SELECT DISTINCT ProdName, ProdPrice

  FROM ( ( OrdLine INNER JOIN OrderTbl ON OrdLine.OrdNo = OrderTbl.OrdNo ) 

           INNER JOIN Customer ON Customer.CustNo = OrderTbl.CustNo )

           INNER JOIN Product ON OrdLine.ProdNo = Product.ProdNo

  WHERE OrdDate BETWEEN #1/1/2007# AND #1/31/2007#

        AND CustFirstName = 'Beth' AND CustLastName = 'Taylor'

Oracle 9i SQL Solution

SELECT DISTINCT ProdName, ProdPrice

  FROM ( ( OrdLine INNER JOIN OrderTbl ON OrdLine.OrdNo = OrderTbl.OrdNo ) 

           INNER JOIN Customer ON Customer.CustNo = OrderTbl.CustNo )

           INNER JOIN Product ON OrdLine.ProdNo = Product.ProdNo

  WHERE OrdDate BETWEEN '1-Jan-2007' AND '31-Jan-2007'
        AND CustFirstName = 'Beth' AND CustLastName = 'Taylor'

35.

Access SQL Solution

SELECT Customer.CustNo, CustLastName, COUNT(*) AS NumOrders
  FROM OrderTbl, Customer

  WHERE OrdDate BETWEEN #1/1/2007# AND #1/31/2007#

        AND Customer.CustNo = OrderTbl.CustNo

  GROUP BY Customer.CustNo, CustLastName

Oracle SQL Solution

SELECT Customer.CustNo, CustLastName, COUNT(*) AS NumOrders

  FROM OrderTbl, Customer

  WHERE OrdDate BETWEEN '1-Jan-2007' AND '31-Jan-2007'

        AND Customer.CustNo = OrderTbl.CustNo

  GROUP BY Customer.CustNo, CustLastName

36.

Access SQL Solution

SELECT Customer.CustNo, CustLastName, COUNT(*) AS NumOrders

  FROM OrderTbl, Customer, OrdLine, Product
  WHERE OrdDate BETWEEN #1/1/2007# AND #1/31/2007#

        AND OrderTbl.OrdNo = OrdLine.OrdNo

        AND OrdLine.ProdNo = Product.ProdNo

        AND Customer.CustNo = OrderTbl.CustNo

        AND ProdMfg = 'Connex'

  GROUP BY Customer.CustNo, CustLastName

Oracle SQL Solution

SELECT Customer.CustNo, CustLastName, COUNT(*) AS NumOrders

  FROM OrderTbl, Customer, OrdLine, Product

  WHERE OrdDate BETWEEN '1-Jan-2007' AND '31-Jan-2007'

        AND OrderTbl.OrdNo = OrdLine.OrdNo

        AND OrdLine.ProdNo = Product.ProdNo

        AND Customer.CustNo = OrderTbl.CustNo

        AND ProdMfg = 'Connex'

  GROUP BY Customer.CustNo, CustLastName

37.

Access SQL Solution

SELECT Employee.EmpNo, EmpLastName, COUNT(*) AS NumOrders

  FROM OrderTbl, Employee
  WHERE OrdDate BETWEEN #1/1/2007# AND #1/31/2007#

        AND Employee.EmpNo = Employee.EmpNo

        AND EmpCommRate < 0.04
  GROUP BY Employee.EmpNo, EmpLastName
Oracle SQL Solution

SELECT Employee.EmpNo, EmpLastName, COUNT(*) AS NumOrders

  FROM OrderTbl, Employee

  WHERE OrdDate BETWEEN '1-Jan-2007' AND '31-Jan-2007'
        AND Employee.EmpNo = Employee.EmpNo

        AND EmpCommRate < 0.04

  GROUP BY Employee.EmpNo, EmpLastName

38.

Access SQL Solution

SELECT Employee.EmpNo, EmpLastName, 
               SUM(EmpCommRate * Qty * ProdPrice) AS TotCommEarned
  FROM OrderTbl, Employee, OrdLine, Product
  WHERE OrdDate BETWEEN #1/1/2007# AND #1/31/2007#

        AND Employee.EmpNo = Employee.EmpNo

        AND OrderTbl.OrdNo = OrdLine.OrdNo

        AND OrdLine.ProdNo = Product.ProdNo

        AND EmpCommRate > 0.03
  GROUP BY Employee.EmpNo, EmpLastName

Oracle SQL Solution

SELECT Employee.EmpNo, EmpLastName, 

               SUM(EmpCommRate * Qty * ProdPrice) AS TotCommEarned

  FROM OrderTbl, Employee, OrdLine, Product

  WHERE OrdDate BETWEEN '1-Jan-2007' AND '31-Jan-2007'
        AND Employee.EmpNo = Employee.EmpNo

        AND OrderTbl.OrdNo = OrdLine.OrdNo

        AND OrdLine.ProdNo = Product.ProdNo

        AND EmpCommRate > 0.03

  GROUP BY Employee.EmpNo, EmpLastName

39.

Access SQL Solution

SELECT MonthName(Month(OrdDate)), 

               SUM(Qty * ProdPrice) AS TotOrdAmount
  FROM OrderTbl, OrdLine, Product

  WHERE OrdDate BETWEEN #1/1/2007# AND #12/31/2007#

        AND OrderTbl.OrdNo = OrdLine.OrdNo

        AND OrdLine.ProdNo = Product.ProdNo

  GROUP BY Month(OrdDate)
Oracle SQL Solution

SELECT to_char(OrdDate, 'MON'), 

               SUM(Qty * ProdPrice) AS TotOrdAmount

  FROM OrderTbl, OrdLine, Product

  WHERE OrdDate BETWEEN '1-Jan-2007' AND '31-Dec-2007'
        AND OrderTbl.OrdNo = OrdLine.OrdNo

        AND OrdLine.ProdNo = Product.ProdNo

  GROUP BY to_number(to_char(OrdDate, 'M'))
40.

Access SQL Solution

SELECT MonthName(Month(OrdDate)), Employee.EmpNo, EmpLastName, 

               SUM(EmpCommRate * Qty * ProdPrice) AS TotCommEarned

  FROM OrderTbl, Employee, OrdLine, Product

  WHERE OrdDate BETWEEN #1/1/2007# AND #12/31/2007#

        AND Employee.EmpNo = Employee.EmpNo

        AND OrderTbl.OrdNo = OrdLine.OrdNo

        AND OrdLine.ProdNo = Product.ProdNo

GROUP BY Month(OrdDate), Employee.EmpNo, EmpLastName

ORDER BY Month(OrdDate), SUM(EmpCommRate * Qty * ProdPrice)

Oracle SQL Solution

SELECT to_char(OrdDate, 'MON'), Employee.EmpNo, EmpLastName, 

               SUM(EmpCommRate * Qty * ProdPrice) AS TotCommEarned

  FROM OrderTbl, Employee, OrdLine, Product

  WHERE OrdDate BETWEEN '1-Jan-2007' AND '31-Dec-2007'

        AND Employee.EmpNo = Employee.EmpNo

        AND OrderTbl.OrdNo = OrdLine.OrdNo

        AND OrdLine.ProdNo = Product.ProdNo

GROUP BY to_number(to_char(OrdDate, 'M')), Employee.EmpNo, EmpLastName

ORDER BY to_number(to_char(OrdDate, 'M')), SUM(EmpCommRate * Qty * ProdPrice)

Part2: Manipulation Problems

1.

INSERT INTO Customer 

  (CustNo, CustFirstName, CustLastName, CustStreet, CustCity, CustState,

   CustZip, CustBal)

VALUES ('C9999999', 'Michael', 'Mannino', '123 Any Street', 'MyTown', 'CO',

               '80217-0211', 500)

2.

INSERT INTO Employee 

  ( EmpNo, EmpFirstName, EmpLastName, EmpPhone, EmpCommRate, EmpEmail)

VALUES ('E9999999', 'Mary', 'Mannino', '(720)543-1234', 0.04, 'Mary.Mannino@abc.com')

3.

Access SQL:

INSERT INTO OrderTbl 

  ( OrdNo, OrdDate, CustNo, EmpNo, OrdName, OrdStreet, OrdCity, OrdState, OrdZip)

VALUES ('O9999999', #1/27/2007#, 'C9999999', 'E9999999', 'Mary Mannino', 

                  '123 Any Street', 'MyTown', 'CO', '80217-1121')

Oracle SQL:

INSERT INTO OrderTbl 

  ( OrdNo, OrdDate, CustNo, EmpNo, OrdName, OrdStreet, OrdCity, OrdState, OrdZip)

VALUES ('O9999999', '27-Jan-2007', 'C9999999', 'E9999999', 'Mary Mannino', 

                  '123 Any Street', 'MyTown', 'CO', '80217-1121')

4.

INSERT INTO OrdLine (OrdNo, ProdNo, Qty)

 VALUES ('O9999999', 'P6677900', 2)

INSERT INTO OrdLine (OrdNo, ProdNo, Qty)

 VALUES ('O9999999', 'P1556678', 2)

5.

Access SQL:

UPDATE Product 

  SET ProdPrice = ProdPrice * 1.1 

  WHERE ProdName LIKE '*Ink Jet*'

Oracle SQL:

UPDATE Product 

  SET ProdPrice = ProdPrice * 1.1 

  WHERE ProdName LIKE '%Ink Jet%'

6.

UPDATE Customer 

  SET CustStreet = '123 AnyNew Street', 

          CustCity = 'MyNewTown', 

          CustZip = '80227-1321' 

  WHERE CustNo = 'C9999999'

7.

The new OrderTbl row must be deleted first. Because deletes cascade from OrderTbl to OrdLine, separate DELETE statements are not necessary for the new rows of the OrdLine table. After deleting the new OrderTbl row, the order does not matter for deleting the new Customer and Employee rows.

8. This DELETE statement deletes the new OrderTbl row along with the related OrdLine rows.

DELETE FROM OrderTbl 

  WHERE OrdNo = 'O9999999'

9.

DELETE FROM Customer

  WHERE CustNo = 'C9999999'

10.

DELETE FROM Employee

  WHERE EmpNo = 'E9999999'

